1d motion 
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1.  The graph above shows the position of an object moving along the x-axis.  What can be concluded about the motion of this object?

A) Its position is constant

B) Its velocity is constant but not zero
C) Its acceleration is constant but not zero

D) Its acceleration is changing over time
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4.  The graph above shows the position of an object moving along the x-axis.  What can be concluded about the motion of this object?

A) Its velocity is increasing

B) Its velocity is decreasing

C) Its velocity is constant but not zero

D) Its velocity is zero

	2.  Which of the following graphs correctly shows the velocity of the object in question 1?
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	5.  Which of the following graphs correctly shows the velocity of the object in question 4?
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	3.  What is the acceleration of the object graphed in question 1?
A) Positive 
B) Negative

C) Increasing

D) Decreasing

E) Zero
	6.  What is the significance of the point where the graph crosses the t axis in question 4?
A) The object has stopped moving

B) The object goes from a positive velocity to a negative velocity
C) The object is no longer accelerating

D) The object is at x = 0
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7.  The graph above shows the velocity of an object.  Which graph correctly shows the position of the object?
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9. A graph of position versus time is shown above.  Which graph correctly shows the acceleration of the object?
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10.  What can be determined about the initial position of the object in question 9?

A) The initial position must be positive

B) The initial position must be negative

C) The initial position must be zero

D) The initial position cannot be determined from the information given



	8. What is the acceleration of the object in question 7?
A) Positive 
B) Negative

C) Increasing

D) Decreasing

E) Zero
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11.  The graph above shows the acceleration of an object.  Which graph correctly shows a possible graph of position versus time for the object?
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13.  Velocity;

I.   Is the same thing as speed

II.  Is the magnitude of speed only

III. Is the rate of change of position with respect            

      to time

IV.  Is the slope of a position vs. time graph

A) I, II, III, & IV

B) II, III, & IV

C) III, & IV

D) I only 
	
[image: image11]
14.  What is the velocity of the object represented in the position vs. time graph above?

A) 0 m/s

B) 1 m/s

C) - 1 m/s

D) - 2 m/s

E) None of the above



	15.  What is the acceleration of the object represented in the graph in question 16?

A) 0 m/s2

B) 1 m/s2

C) - 1 m/s2

D) - .5 m/s2

E) None of the above


12. The initial position of the object in question 11 

A) Must be zero

B) Must be positive 

C) Must be negative

D) Cannot be determined from an acceleration vs. time graph
Questions 16-20 (do not answer on CPS)

A student studying the relationship between speed and time took the following data (reported in the table)

	Speed (m/s)
	Time (s)

	1.3
	.50

	1.8
	.75

	2.3
	1.00

	2.0
	1.25

	3.9
	1.50

	4.1
	1.75

	4.9
	2.00

	5.4
	2.25


16. On the coordinate plane below, plot the speed vs. the time.  Be sure to correctly label your axis and include units.  

17. Draw a best-fit line to represent your data.

18. Should your line go through (0, 0)?  Explain why or why not?

19. Find the acceleration using your best fit line.  Clearly indicate any points you use and show all your work.

20. Using your value for the acceleration, predict the speed after the object has been moving for a time of 10 seconds.
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